S 3EE

Bl —R e IEPRE

Bl — B & Gk s IE P RGBSR






M

Bk
M
Rl

35%

3R LT fREEHME TR (555 K)

R SEEELTO—RESHOMETHE GESK) 1L, WIIEDDLEZAIZLD,
(AR TR OMIE)
F145 BmARHTEOBRBEIOS AR EE L 135,213 FHAZEBML, mARHTHE

w

DFRFEZ RN Z 01 47, 812,557 FH & 45,
2 BARETHEOHIEDKED X5 M O MKy T & OAFEN QNI IER O ARk H
TEHOSFL, H1EX BRARHTEME] 2L 5,

SF3EIH 22 H

EAIINIEES A O E= =



Paran L EI=N Jefss L P
1k % N sk H 7 B IE
54 A
* H fHIERTO%E W O1E i
M M M
55 [EH 3 H 4 8, 349, 941 117, 615 8, 467, 556
20 [EHEATBL 4 2,741, 721 117, 615 2,859, 336
80 #dhik4x 284, 098 17, 598 301, 696
10 febll 4 284, 098 17, 598 301, 696
% & 47,677, 344 135, 213 47,812, 557
=N
75 i
* " fHIERTO%HE i E % E
M M M
35 EMKFEREE 2,122, 806 117,213 2, 240, 019
10 s 1,621,333 117,213 1, 738, 546
55 HEE 3, 896, 300 18, 000 3,914, 300
10 HBERBE 654, 792 18, 000 672, 792
3 a 47,677, 344 135, 213 47,812, 557




A 3 HEEE

L — i 2% A E T 9

(% 5 &)






I ATk A IE 7 5 S TR B

LB
(7 A)
E IR O%HE W E &t
T T T
55 [EHE X4 8, 349, 941 117, 615 8, 467, 556
80 il 4> 284, 098 17, 598 301, 696
% A & &t 47,677, 344 135, 213 47,812, 557




= IR O%HE W OE % it
T T T
35 JEMKPEEE 2, 122, 806 117,213 2,240, 019
55 HEZE 3, 896, 300 18, 000 3,914, 300
% & 47,677, 344 135, 213 47,812, 557




I

w0 WO N R

i R i P
S H 5 AR Z O i o
11 ik T RS
108, 615 8, 598
9,000 9,000
117, 615 0 0 17, 598




2 W A

553k [EFEXH4 117, 615 -1
2 0T [EEMBL4 117, 61511

H HHIERTO%E i IE % &t
T M T
21 FEMOKPEREE [E EMB 4 21, 810 108, 615 130, 425
35 HEEEEMB A 107, 331 9, 000 116, 331
i 2,741,721 117,615 2, 859, 336
8 Ok M4 17, 598 F
1 0IH Hlid 17, 598 T-[1]
10 Hafka 284, 098 17, 598 301, 696
5 284, 098 17, 598 301, 696




= A
s W it H
T T
10 2EEMB4 108, 615 | i = 0 F 7 A )b A JREYLRE b s M5 BIAE G BREAS A1 4 108, 615
9, 000 | AR LRMEEE B %t R ST B 4 9, 000
2450 1
17,598 | ikt FA il 4 17, 598

553k EHEHe 803Kk Mullie




3 % N
353K BEMKPEXE 117, 213FH
10 B 117, 213TH
Wi E ®m o M O N iR
H M ERTD%E HE%E 7 K & o b/ P
XA
] I 32 H 4 o5& canyi
T T T T T T T
20 PELIEIRELE 508, 335 117, 213 625, 548 108, 615 8, 598
[ i 4
108, 615
= 1,621, 333 117,213| 1,738,546 108, 615 0 0 8, 598
558 HE#H 18, 000T-[1
1 0 HEWREHE 18, 000 T[]
20 HEIRIE 322, 880 18, 000 340, 880 9, 000 9, 000
[ i 4
9, 000
= 654, 792 18, 000 672, 792 9, 000 0 0 9, 000




i
z B
X 5 & # ’ 4
T T
10 2% 115 | 005 f&3HRBUBIR % 117,213
10 EHE 115
11 &F#E 384
THFES Y 34
12 Zitk 90 BTN = 81
11 %%% 384
18 R K 116, 624 )
» i {E R 384
O A4
12 ZFtet 90
ERECR 90
18 A A & 0S4 116, 624
B o v A L A IR TRIE R S K O FHE R A EE Ak SR 4
116, 624
10 FAH 18,000 | 005 AL IRILE 18, 000
10 FEH%E 18, 000
THEE L 18, 000

3 53K

JEMOKEERT 553Kk HEH




